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                                       Assignment 3
Part A 

True/ False/ Uncertain Questions


Explain why the following statement is True, False, or Uncertain according to economic principles. Use diagrams and / or numerical examples where appropriate. Unsupported answers will receive no marks.  It is the explanation that is important.

A1.
In the long run, no-trade-to-free-trade liberalization raises the firm size and number of firms in the market. 

False

See Section 6.4.1 and Figure 6-9 of  Baldwin’s textbook for a graphical explanation.

A2.
In the long run, no-trade-to-free-trade liberalization raises the welfare of the consumers and producers in the home country.
False

See Section 6.4.1 (page 151) and Figure 6-10 of  Baldwin’s textbook for a graphical explanation.
A3. 
Economic integration increases the per capita growth rate in the medium run.
True

See Sections 7.2.2 and 7.2.3, Figures 7-3 and 7-4 of Baldwin’s textbook for a graphical explanation.
A4. 
Economic integration increases the per capita growth rate in the long-run.

Uncertain
See Sections 7.2.2 and 7.3.1, Figures 7-3 and 7-8 of Baldwin’s textbook for a graphical explanation.
A5.
Society is better off under economic integration with partial collusion among firms than under economic integration without collusion among firms.
False
See Section 11.1.1 (page 261) and Figure 11-2 of  Baldwin’s textbook for a graphical explanation.

A6.
In the short run, the efficiency enhancing mergers raise the society’s welfare.
Uncertain

See Section 11.1.3 and Figure 11.4 of  Baldwin’s textbook for a graphical explanation.

A7.
The overall welfare of both home and foreign country increases with the implementation of the liberalize-and-subsidize policy by both countries. 
True

See Section 11.1.4 and Figure 11.5 of Baldwin’s textbook for a graphical explanation.
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